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TP ﬁ_ﬂki@% 3.61 90. 73
5 — BRI EY 32. 65 24. 44
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12T TH—RERNORLERILT RRETSLFRB 20 20
5 DIEHNRES SREFTOLEBSR REl | 'RAL
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SNESS B B N B - -
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5 SRETOLERBSE sRaL | 'Rl
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SHNTEE BHKLEMREROWEKEREBR

oy HFFREE

B8 B (FKBIRGR) 48 58
RENL 288 4338 5588
BROESNEBE 45108 58138
D RIVLROZDIEEY mg/L 0.03 T - = — — = = = — = - —
I PILED mg/L 0.5 I T — — — — — — — = = — —
BRUZDEEN mg/L 0.1 T = — — — = - - = = = =
JOLEBEUZDILED mg/L 2 I - - = = — — = = = — —
ARUZDEEY mg/L 3 T = — — — = - - = = = =
BBRUZDILED mg/L 2 DI — — — — — — — = — — —
HROUZDEEN mg/L 10 DIF — - — - = — - = = = —
NIAVROZDILED mg/L 10 DIF — - = = = — = = = — —
B OLESY mg/L 0.2 T = — — — = - - = = = =
MELUZDILED mg/L 0.1 DIF — — — = - = = = = = =
BKEROZDEEY mg/L 0.003 I T = — — — = = - = = = =
7ILE)LKSBEED mg/L T&d = — - = = — — = = = —
U Y RUZDILED mg/L 0.1 IF — — — — - — — — — — —
FSFRRUZDILED mg/L 10 LT — — — — — — — — - - —
SORERUZDESH mg/L 8 LIT - - — = = - - = = = =
RIBEED £ Z )L (PCB) mg/L 0.003 IR - — — = = - - = = — =
J000X5Y mg/L 0.2 LIT — — — — - - — — — — —
v mg/L 0.02 AT - - — — = = - - = = —
1,2-000I5Y mg/L 0.04 B — - - - = = = - — = —
1,1-¥2001FL Y mg/L 1DF = - - = = — — = = = —
JR-1,2-IJ00IFLY mg/L 0.4 IT = = - = = = — = = = —
1,1,1-~J)O00THY mg/L 3 T — — — — - — - — — = —
1-1-2- )2 00Ty Y mg/L 0.06 1™ - - - - - - - - - - -
~JoDO0IFLY mg/L 0.1 T — — - — = = = - - = =
T h5000IFLY mg/L 0.1 T — — - — = = = - - = =
1,3-y270070XY mg/L 0.02 IT - - — = = — - = = — —
ey mg/L 0.1 AT — — — — - - — — — = =
1.4-IFFH5Y mg/L 0.5 AT — — — - — — — = = — —
Jx . /—)L¥ mg/L 5 IR — — — — — — — — = — —
BEELST mg/L 1DF - - = = — — = = = — =
FOS L mg/L 0.06 DX — — — — — = = = — = —
NIV mg/L 0.08 B — — — — — = = - — = —
FARI AT mg/L 0.2 LIF — — — — — - - — — — —
CREEDPL: pg-TEQ/L 10 DIF - — = = = = = = = =
PIEZ Pt BB - BBEER mg/L 380 Fom - = - - = = — = = —
IR (BAE) C 45 i 17.3 21.4
K31 Z VBE (pH) 5% B2 9Fim 7.8 7.8
FIBY)EE (SS) mg/L 600 FKig 2 1
VL FEVEE=E 0K E (BOD) mg/L 600 i 64 12
FREES mg/L 220 K - - = - = = — = = —
nATHVIiBENE mg/L 30 T = =
AT Y VIBBYE Gioh) mg/L 5 T = =




SDNTEE

T KOKEAERBR (1,/3)

EREVSPA RAES BfiI IRIFEE 48 58 68 8 88 98 108 18 128 18 28 38
HEL 7ZA8 4838 5888
BRDIESNIZHAB 48108 58138
e mS/m — 17 7
BN AVEE mg/L — 2.9 3.1
HRIDL mg/L 0.003 AR — — — — — — = — — - —
ESN mg/L TRE - - - = = = = = = - -
) mg/L 0.01 XF — — — — = = — - = - —
AN ulN mg/L 0.02 BIF — — — — = = — - = - —
E= mg/L 0.01 T — — — — = = - = = = =
KR mg/L 0.0005 AT — — — — = = — = = - —
PILFEIVKIR mg/L TR — — — — = — — — — — —
Ly mg/L 0.01 XF — — — — = = — - = - —
ISYE mg/L 0.8 AT — — — — - — = = — — —
F5= mg/L 1T — — — — - — = = — — —
PCB 5 mg/L TiEE — — — — — = = — - = -
— o jyrrs | Y200X5Y mg/L 0.02 I T = — — = — — — = = — =
E_%E;—t;} a L dES mg/L 0.002 I — — — — = — - = = = =
J00IFLY mg/L 0.002 AT — — — — — — — — - - —
1,2-000I5Y mg/L 0.004 I T — — — = — — — = = = =
1,1-2001FL Y mg/L 0.1 T — = — = = — — = = = —
1,2-37001FLY mg/L 0.04 I T — = — = = — — = = = —
1,1,1-F)200IHY mg/L 1T = — — = — — = = = — -
1-1-2-~FJJ00IYY mg/L 0.006 I T - - - - - - - - - - -
~JOO0OIFLY mg/L 0.01 AT — — — — = — - = = = =
ThS5O00TFLY mg/L 0.01 XT — — — — = — - = = = =
1,3-y200070XY mg/L 0.002 AT — — — — = — - = = = =
RIPY mg/L 0.01 IT — — — — = — — = = = =
1,4-IFF5Y mg/L 0.06 T — — — — = — — = = = =
FOSL mg/L 0.006 I — — — — = = - — = = =
INIY mg/L 0.003 I T — — — — = — — = = = =
FARIAILT mg/L 0.02 LIT — — — — = — — = = = =
DM - EEBUER mg/L 10 AT — — — — = - — — = — —
R e pg-TEQ/L 1T = — — — — — - = — =
B 288 4838 5888
BROESNEZEE 48108 58138
ERULEX nS/m — 32 32
Bt TV RE mg/L — 5.6 5.8
HRZDL mg/L 0.003 IR — — — — — = - — — = —
ESP ng/L TS = - - - - - - = = = =
5 mg/L 0.01 XT — — — — = = - - = — =
MO0 L mg/L 0.02 IT — — — — = = - - = = =
Ex mg/L 0.01 XT — — — — = = - - = = =
KR mg/L 0.0005 BAT — — — — = = - - = = =
PILE VKR mg/L TMeE — — — — — — = - — — -
Ly mg/L 0.01 XT — — — — = = - - = = =
SR mg/L 0.8 AT — — — — — — — — — — —
Fo5%= mg/L 1T — — — — — — — — — — —
PCB =5 mg?L TMeE - - - — — — — — — — -
— o yrrs | Y200X5Y mg/L 0.02 IF = — — = = — = = = — -
BRI |mEkEn n/l | oo NF| = = - - = = = = = - =
J00IFL Y mg/L 0.002 AT — — — — — — — — = - —
1,2-Y)00I5Y mg/L 0.004 I — — — = = — - = = — =
1,1-YJ00IFLY mg/L 0.1 T — — — = = — - = = — =
1,2-Y)00IFLY mg/L 0.04 T — — — = = — - = = — =
1,1,1-FJO00TIHY mg/L 1T = — — = — — = = = — -
1-1-2-FJ2o00I%Y mg/L 0.006 LT - - - - — — — — - - -
~JOO0OIFLY mg/L 0.01 XT — — — — = = — = = = =
FhS5O00TFLY mg/L 0.01 XT — — — — = = — = = = =
1,3-300070XY mg/L 0.002 AT — — — — = = — = = — =
RIPY mg/L 0.01 T — — — — = = - = = — =
14-IFFHY mg/L 0.06 I — = — — = = — = = — —
FOS L mg/L 0.006 I — — — — = = — - = = =
INIY mg/L 0.003 I — — — = = - = = — = -
FARI AT mg/L 0.02 AT — — — — = = — = = — =
DEIL - BREESR mg/L 10 T — — — — - - — — — = —
FAAXIVE pg-TEQ/L 1T — — — — = = — = = —




SR 7 EE

T KDKERAERBR (2,/3)

RS BEES E e 48 58 68 8 = = 108 1A 128 = = =
HEL 7ZA8 4838 5888
BROESNEZAB 45108 55138
e mS/m — 42 38
BN AVRE mg/L — 16 16
HRIDL mg/L 0.003 AT — — — — — — = — — - —
ESN mg/L TRE - - = = = = = = = - -
) mg/L 0.01 XF — — — — = = - = - = =
AN ulN mg/L 0.02 BIF — — — — = = - = - — =
E= mg/L 0.01 T — — — = = - = = — = =
KR mg/L 0.0005 AT — — — — = — - = - — =
PILFEIVKIR mg/L TR — — — — = — — — — — —
Ly mg/L 0.01 XF — — — — = = - = - = =
ISYE mg/L 0.8 AT — — — — - — = = — — —
F5= mg/L 1T — — — — — — = — — — —
PCB 5 mg/L TiEE — — — — = = — - = = =
— ol s [PZ200X5Y mg/L 0.02 I T — — — = — — = — = = =
FRAETT |mEkEE n/l | 00w NF| = = = = = = = = - = =
J00IFLY mg/L 0.002 AT — — — — — — — — - - —
1,2-3700I15Y mg/L 0.004 I T = — — = — — = = = = -
1,1-2001FL Y mg/L 0.1 T = — — = — — = = — = -
1,2-37001FLY mg/L 0.04 I T = — — = — — = = = = -
1,1,1-F)200IHY mg/L 1T = — = = — — = = = — -
1-1-2-~FJJ00IYY mg/L 0.006 I T - - - - - - - - - - -
~rJOO0OITFLY mg/L 0.01 IF — — — — — — — — — — —
ThS5O00TFLY mg/L 0.01 AT — — — = = - = = = = =
1,3-y200070XY mg/L 0.002 AT — — — = — - = = = = =
RIPY mg/L 0.01 IT — — — = — — = = = = -
1,4-IFF5Y mg/L 0.06 T — — — = — — = = = = -
FOSL mg/L 0.006 I — — — — = - — = = = =
INIY mg/L 0.003 I T — — — = — — = = = = -
FARIAILT mg/L 0.02 LIT — — — = - - = = = = =
DEMIL - BREESR mg/L 10 AT — — — — - — — = — — —
PR e ] pg-TEQ/L 1T — — — = - = — - - —
AL EBH K] FEEE]
BROESNEZEE 48108 58138
ERULEX nS/m — 31 31
Bt TV RE mg/L — 12 12
HRZDL mg/L 0.003 IR — — — — — = - — — = —
ESP ng/L TS - - - - - - - = = = =
5 mg/L 0.01 XT — — — — = = - - = — =
MO0 L mg/L 0.02 IT — — — — = = - - = = =
Ex mg/L 0.01 XT — — — — = = - - = — =
KR mg/L 0.0005 BAT — — — — = - - - = = =
PILFEIUKER mg/L e — — — — — = = - — — —
Ly mg/L 0.01 XT — — — — = = - - = — =
QD3R mg/L 0.8 I T — — — — - - — = — — —
Fo5%= mg/L 1T — — — — — — — — — — —
PCB 45 mg;L N — — — — — — = — = = =
— ol s |[PZ200X5Y mg/L 0.02 IF — — — = - - = — = = =
BRI |mEkEn n/l | oo NF| = = - = = = = = - = =
J00IFL Y mg/L 0.002 AT — — — — — — — — = - —
1,2-Y)00I5Y mg/L 0.004 AT = — — = = - = = — = =
1,1-J700TFL Y mg/L 0.1 T = — — = — - = = — = -
1,2-Y)00IFLY mg/L 0.04 IF = — — = = - = = — = =
1,1,1-FJO00TIHY mg/L 1T = — = = — — = = = — -
1-1-2-FJ2o00I%Y mg/L 0.006 LT - - - - — — — — - - -
~JOO0OIFLY mg/L 0.01 AT — — — = = — = = = = =
FhS5O00TFLY mg/L 0.01 AT — — — = = — = = — = =
1,3-300070XY mg/L 0.002 AT — — — = = — = — — = =
RIPY mg/L 0.01 T — — — = = — = = — = -
14-IFFHY mg/L 0.06 I — — — = = — = = — — -
FOS L mg/L 0.006 I — — — — = — - = = = =
INIY mg/L 0.003 I — — — = = - = = — = -
FARI AT mg/L 0.02 AT — — — = — — = — = = =
DEE - EBREER mg/L 10 T — — — = — — = = — — =
FAAXIVE pg-TEQ/L 1T — — — = - = = — = —




SDNTEE

T KDKERAERBR (3,/3)

RS RAES EXtivj jised 48 58 68 8 88 98 108 18 128 18 °B 38
HEL 7ZA8 4838 5888
BRDIESNIZHAB 48108 58138
e mS/m — 13 14
BN AVEE mg/L — 2.5 2.8
HRIDL mg/L 0.003 AR — — — — — — = — — - —
EIPY mg/L TEE — — — — — — = — — - —
) mg/L 0.01 XF — — — — = = — - = - =
AN ulN mg/L 0.02 BIF — — — — = = — - = - —
E= mg/L 0.01 T — — — — = = - = = = —
KR mg/L 0.0005 AT — — — — = = — = = - —
PILFEIVKIR mg/L TR — — — — = — — — — — —
Ly mg/L 0.01 XF — — — — = = — - = - =
ISYE mg/L 0.8 AT — — — — - — = = — — —
F5% mg/L 1T — — — — = — — — — — —
PCB mg/L TiEE — — — — = = — - = = =
JJ00X%Y mg/L 0.02 T — — — — = — — = = = =

AKX PGt iesR mg/L 0.002 DI — — = = — — = = = — =
J00IFLY mg/L 0.002 AT — — — — — — — — - - —
1,2-000I5Y mg/L 0.004 I T — — — = — — — = = = =
1,1-2001FL Y mg/L 0.1 T — = — = = — — = = = —
1,2-37001FLY mg/L 0.04 I T — = — = = — — = = = —
1,1,1-F)200IHY mg/L 1T = — = = — — = = = — -
1-1-2-~FJJ00IYY mg/L 0.006 I T - - - - - - - - - - -
~JoD0IFLY mg/L 0.01 XT — — — — = — — — = = =
T h5O00IFLY mg/L 0.01 XT — — — — = — — — = = =
1,3-y200070XY mg/L 0.002 AT — — — — = — - = = = =
RIPY mg/L 0.01 IT — — — — = — — = = = =
1,4-IFF5Y mg/L 0.06 T — — — — = — — = = = =
FOSL mg/L 0.006 I — — — — = = - — = = =
INIY mg/L 0.003 I T — — — — = — — = = = =
FARIAILT mg/L 0.02 LIT — — — — = — — = = = =
DM - EEBUER mg/L 10 AT — — — — = - — — = — —
R eVl pg-TEQ/L 1T = — — — — — - = — =




